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SECTION A

Read the following stimulus material and answer all parts of question 1 which follow in this section.

Lowflation

In 2014 a new term ‘lowflation’ was invented by Simon Kennedy of Bloomberg News. He defined
it as a situation where prices are rising but not fast enough to provide the benefits delivered

by higher inflation. A number of economists and economic institutions now use the term. The
International Monetary Fund, for instance, employs the term to describe disinflation with a risk of
deflation.

Lowflation may mean that inflation is below any target set by the government or central bank of a
country. Table 1 shows the target rate for inflation, the inflation rate and the nominal interest rate
of five countries in 2015.

Table 1 — Inflation target, inflation rate and interest rate for selected countries, 2015

Country Inflation target | Inflation rate Interest rate
(%) (%) (%)
Mexico 3+/-1 2.6 6.1
Russia 4.5 15.3 10.2
South Africa 3-6 4.7 9.6
Turkey 5+4/-2 7.6 11.1
UK 2 +/—-1 0.1 1.8

The main policy tool used by central banks to keep inflation within target is the rate of interest.
In some circumstances, central banks use quantitative easing to inject money directly into

the economy and to help firms find it easier and cheaper to borrow from a range of financial
institutions. A possible effect of quantitative easing is to increase the amount of money in
commercial banks and so banks’ ability to lend. The Bank of England has also used forward
guidance to influence expectations about future levels of interest rates.

As Table 1 shows the rate of inflation experienced varied between countries in 2015. A number
of countries, including Japan, the UK and the USA experienced lowflation. There was concern in
these countries that they might experience a deflationary spiral such as that shown in Fig. 1.
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Fig. 1 — The deflationary spiral

LOWER PRICES

HOUSEHOLDS AND
FIRMS DELAY
PURCHASES

FIRMS REDUCE
OUTPUT

EMPLOYMENT FALLS

LOWER AGGREGATE
DEMAND

FURTHER DOWNWARD
PRESSURE ON PRICES

Other countries experienced high inflation in 2015. A number of these were commaodity exporters
which were affected by the fall in the price of commodities which tend to have price inelastic

20 demand. For instance, several oil exporting countries saw their price level rise as a result of the
fall in the price of oil and the resulting impact this had on their exchange rates.
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Inflation can have a number of effects on an economy. One of these is that it can redistribute
income. Fig. 2 shows the Lorenz curves for three countries in 2014.

Fig. 2 — Lorenz curves for Brazil, Sweden and the UK, 2014
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1 (a) Distinguish between disinflation and deflation.

(b) (i) Using Table 1, calculate which country had the highest real interest rate in 2015.

L7010 o | YRS

(ii) Using Table 1, explain which central bank would have been most likely to have engaged
in quantitative easing.
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(c) (i) Using Fig. 2, explain which country had the most even distribution of income.

(i) Using Fig. 2, calculate what percentage of income the second lowest 20% of income
earners received in the UK. Show your workings.
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(d) Evaluate to what extent a fall in the price of oil would cause inflation in oil exporting countries.
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(e)* Using Fig. 1, evaluate whether increasing the funds banks have available to lend will reverse
a deflationary spiral.
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SECTION B

Answer EITHER question 2 OR question 3.
EITHER

2* At the start of 2016, Singapore had an unemployment rate of only 3.4%. This compared with an
unemployment rate of 10.7% for the Eurozone.

Evaluate, with the use of an appropriate diagram(s), whether achieving full employment will always
benefit an economy. [25]
OR

3* It was estimated that Greece had an output gap equivalent to 10% of potential GDP in 2015.

Evaluate, with the use of an appropriate diagram(s), whether fiscal policy will always reduce a
negative output gap. [25]
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SECTION C

Answer EITHER question 4 OR question 5.
EITHER

Vietham, a low-income country, is one of the fastest growing economies with a falling rate of
poverty.

Evaluate whether economic growth will reduce poverty. [25]
OR

Recorded remittances to developing economies reached $440 billion in 2015.

Evaluate whether the receipt of remittances benefits developing economies. [25]
Question No .............
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END OF QUESTION PAPER
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ADDITIONAL ANSWER SPACE

If additional space is required, you should use the following lined page(s). The question number(s)
must be clearly shown in the margin(s).
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